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XY
g(x), h(y)
Z=X+Y
> _g(x)h(z —x)
k(z) = ’
/g(az)h(z — x)dx
g(x), h(y) k()

(convolution)
k=gxh
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X
1
g(x)zéforazzl,Z,...,fi |
v I
1
h(y) = ; fory=1,2,...,6
Z=X4+Y
6 —|7— z|
k) = =55

for z=2,3,...,12
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Mx (1) My (1)

(1)
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(reproductive)


sugi
Rectangle

sugi
Rectangle
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My (t) = exp(uxt + 0%42/2)

Mz(t) = Mx(t)My(t)
= exp(uxt + o5t?/2) exp(pyt + o3-t*/2)
= exp(pzt + ozt?/2)
pz = px +py, oz =ox +oy

XY
X NN(MXDO%()v YNN(MYDO-SQ/)

Z=X+Y  Z~Nuz,o3)
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X =Mp P + Nopyhy
>\17 >\2 ¢17 ¢2

||¢1|| — ||¢2|| =1 <¢17¢2> =0
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\/7¢1¢1 + \/7qb2gb2

l\')h—\

= Hx
(u) _ w3 (:B—luX) py
v _
T ) (2)
] ==

/O; /O; f(m’y)dydmz/oo /OO Fu,v)|J|dvdu
e

1 ( U )d 1 00 ( U2> ]
— T — ex - U ex v .
V2T J oo b 2 Vor oo p 5

=1
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0.015

) ;'l'l'l'l'li
<" 0.01 ” ,
3 i ,l.',l.'l.l,.,u il

x ﬂm '
X 0,005 'l l! ..H“ i“ﬂi‘ 10

10 ;
A5 0 5 0 D S "
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(0

2+ (2)

vy
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2. = diag (0%,0%, . ,03)

4 (n() _ ()2
fla)=—— p<—2(w = )>

(zﬁ)d/z Hz 1 z i=1
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Octave 2

Yo = \o
>

X =M1 + Aoy
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30

v
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